Construction Supplies, Equipment, and Tools Request for Proposal

Subject: Proposal for Purchase of Supplies, Equipment, and Tools for Allen County Career and Technical Center Construction Department

Date: September 10, 2025

Background

Allen County Schools is seeking proposals from qualified vendors to provide supplies, equipment, and tools to support the Allen County Career and Technical Center's Construction Department. This acquisition is part of our commitment to provide students with quality hands-on learning experiences in a safe and efficient environment.

Scope of Work

The proposal should address the following requirements:

1. Items to be Quoted:

 A complete list of supplies, equipment, and tools will be attached to this RFP for vendor review and pricing.

2. Delivery/Pickup Options:

 Items may be delivered directly to the Allen County Career and Technical Center, or they may be picked up at the vendor's location depending on terms and availability.

3. Services:

 Vendors should include any options for assembly, setup, or demonstration of tools and equipment if applicable.

Proposal Requirements

Vendors are requested to provide detailed information, including but not limited to:

1. Pricing:

- Itemized pricing for each supply, piece of equipment, or tool listed in the attached document.
- Cost of delivery (if applicable).
- Any applicable taxes, fees, or additional charges.

2. Timeline:

- Estimated lead time for delivery or pickup.
- o Any constraints regarding availability of items.

3. Warranty:

Warranty coverage for tools and equipment, where applicable.

4. Terms and Conditions:

- Payment terms.
- o Return policies or conditions for defective items.

Proposal Submission

All proposals should be submitted by September 19, 2025 before 3:00PM.

Contact Information

For inquiries and/or submission of proposals, please contact Brian Carter at Allen County Board of Education 270-618-3181. Submissions can be emailed to brian.carter@allen.kyschools.us.

Evaluation Criteria

Proposals will be evaluated based on:

- Compliance with the scope of work.
- Overall cost and value.
- Warranty and support offerings.
- Delivery or pickup timeline.

We appreciate your interest in partnering with Allen County Schools and look forward to receiving your proposal.

Sincerely,

Brian Carter
Deputy Superintendent
Allen County Schools

Authentication of bid and affidavit of Non-collusion and

Non-conflict of interest

I, the proposer, hereby swear (or Affirm) under the penalty for false swearing as provided by KRS 523.040:

that my proposal submitted hereon has been arrived at by me independently and has been submitted without collusion with and without any agreement, understanding, or planned common course of action with any other proposer or Board employee, designed to limit independent bidding or competition: that the contents of this proposal has not been communicated by me or anyone associated with the preparation of this proposal to any person not an employee or agent of the proposer and will not be communicated to any person or entity prior to the official opening of the proposals;

that I am legally entitled to enter into contracts with the Allen County Board of Education and am not in violation of any prohibited conflict of interest;

that I have fully informed myself regarding the accuracy of the statements made in this affidavit;

that I have read the entire contents of this Request for Proposal, including the Contract, and accept all the terms and conditions therein as part of my proposal and will be bound by same. I am not relying on any statement, verbal or otherwise, not contained herein.

SIGNATURE REQUIRED:

This proposal cannot be considered valid unless the proposer signs it and prints or types his name, firm address, telephone number, and date in the spaces provided. Offers signed by an agent are to be accompanied by evidence of his authority.

Et La Simme	Owner
Signature of Proposer	Title
Johnson Home Center	715 E Main St Sulle Ky 42/64
Firm Name	Address
210.237-3296	9-10-25
Phone	Date

Supplies	Quanity	Price Per	Total
lails GRSP12DZ	10	\$53.20	\$532.00
ails GRSP10DRHG	10	\$66.00	\$660.00
lails GRSP8DRHG	10	\$78.00	\$780.00
Sander Belts 3x18	10	\$6.98	\$69.80
Sander Discs	10	\$24.50	\$244.50
Brad Nails 2 1/2"	2	\$46.60	\$93.20
Brad Nails 2"	2	\$42.60	\$85.20
Brad Nails 1 1/2"	2	\$20.85	\$41.70
Nails GRSP10	10	\$41.75	\$417.50
Nails GRSP8D	10	\$36.85	\$368.50
PVC 3/4" Tee	50	\$0.61	\$30.50
PVC 3/4" Coupling	50	\$0.37	\$18.50
SCH 40 1/2" Pipe	10	\$3.88	\$38.80
PVC 1/2" 90 elbow	50	\$0.48	\$24.00
PVC 1/2" Tee	50	\$0.60	\$30.00
PVC 1/2" Coupling	50	\$0.35	\$17.50
Valve 1/2" FIP	20	\$5.42	\$108.40
PVC Male Adapter	20	\$0.49	\$9.80
CPVC Cement	24	\$5.48	\$131.52
	24	\$4.10	\$98.40
Purple Primer Manifold PEX 12	6	\$4.10 \$196.00	\$1,176.00
Copper Pipe 1/2"	25	\$21.22	\$1,176.00
	50	\$0.45	\$22.50
Copper Elbow 1/2"		\$0.43	\$36.00
Copper Tee 1/2"	50		
Copper Coupling 1/2"	50	\$0.39	\$19.50
Copper press valve	20	\$9.48	\$189.60
Straight Valve	20	\$5.85	\$117.00
Ball Valve 1/2"	20	\$5.18	\$103.60
Solder 1/4 Lb	20	\$25.89	\$517.80
Flame Blanket 9x12	5	\$19.65	\$98.25
Copper press elbow	50	\$2.08	\$104.00
Copper Press Tee	50	\$2.97	\$148.50
Copper Press Coup	50	\$1.45	\$72.50
Brass Elbow 1/2"	50	\$7.62	\$381.00
Brass Comp Tee	50	\$10.48	\$524.00
Brass Comp Coup	50	\$5.05	\$252.50
Datey Clean Brush	20	\$4.78	\$95.60
Black St. Pipe 1/2"	25	\$21.19	\$529.75
2x4x8' Treated	80	\$4.85	\$388.00
x4x8' Treated	20	\$3.87	\$77.40
x4x12' Treated	10	\$5.32	\$53.20
x2x8' Treated	10	\$4.96	\$49.60
x6x10' Treated	120	\$6.80	\$816.00
Inch Deck Screws	20	\$28.72	\$574.40
5/8 " Deck Screws	10	\$28.72	\$287.20
Vood Glue	20	\$2.89	\$57.80
5/16 Carriage Bolts 100	9	\$35.69	\$321.21
5/16 Nut 100	3	\$15.19	\$45.57
5/16 Flat Washer 100	3	\$8.15	\$24.45
5/16 Teflon Nuts	5	\$15.65	\$78.25
Outdor Panel Box	5	\$63.69	\$318.45
5 A GFCI Breaker	5	\$63.85	\$319.25
		\$2.28	\$11.40
3 Way Switch	5		
7 Ter. Ground Bar	5	\$7.60	\$38.00
Plastic Staples	1	\$13.89	\$13.89
Way Switch	2	\$15.19	\$30.38
Red Strobe Light	5	\$47.60	\$238.00
Door Bell Kit	5	\$19.85	\$99.25
3 1/8 12D Nails	5	\$10.79	\$53.95 \$12,614.07

Equipment	Model	Quanity	Price Total		
18" Band Saw	JWBS-18SPX-3	1	\$3,000.00		
Rigid Pipe Threader	26092	1	\$14,438.00		
Total Equipment			\$17,438.00		
Tools	Make	Model	Quanity	Price Per	Total
Frame Nailer	Milwaukee M-18	2745-21	3	\$464.00	\$1,392.00
Belt Sander	Milwaukee M-18	2832-20	3	\$258.00	\$774.00
Orbital Sander	Milwaukee M-18	2648-21	3	\$219.85	\$659.55
Finish Nailer	Milwaukee M-18	2839-20	3	\$312.60	\$937.80
Pipe Cutter	Milwaukee	48-22-4259	4	\$28.78	\$115.12
Adjustable Wrench	Milwaukee 10"	48-22-7410	6	\$20.65	\$123.90
Adjustable Wrench	Milwaukee 8"	48-22-7408	6	\$16.78	\$100.68
Drill	Milwaukee M-18	2704-22	3	\$305.00	\$915.00
Metal Cir. Saw	Milwaukee M-18	2782-22	2	\$408.00	\$816.00
Band Saw	Milwaukee M-18	2729-22	1	\$648.00	\$648.00
Tool Cart	Milwaukee M-18	48-22-8560	3	\$1,669.00	\$5,007.00
Hole Saw	Milwaukee M-18	49-22-3090	2	\$118.00	\$236.00
Pipe Wrench 10"	Milwaukee	48-22-7110	3	\$22.39	\$67.17
Pipe Wrench 14"	Milwaukee	48-22-7114	3	\$31.80	\$95.40
Press Tool Kit	Milwaukee M-18	2773-22	2	\$3,189.00	\$6,378.00
Press Tool Kit	Miiwaukee M-18	2674-22P	2	\$746.00	\$1,492.00
Expansion Tool Kit	Milwaukee	2632-22XC	2	\$1,019.00	\$2,038.00
Pipe Threader	Milwaukee	2870-22	2	\$2,325.00	\$4,650.00
Torch Kit		5199468	6	\$48.99	\$293.94
Tristand Chain Vise	Rigid	36273	2	\$565.00	\$1,130.00
Pipe Roller Stand	Rigid	56672	2	\$189.00	\$378.00
Total Tools					\$28,247.56
GRAND TOTAL		58299.6	3		
Delivery Charges if applied		Pick up			
Estimated Lead Time for Delive	ry or Pickup	2 weeks			
Warranty for tools and equipme	nt, where appicable	Factory		Market Table	